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0.15
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0.1
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0.05 0.05

74 =(0.5+0.1*2+0.05%3)+(0.15+0.1%2+0.05*3+0.05*3) = 1.5

Q(0) Q) Q(2) QB)
0.15 0.1 0.05 0.05

5 1 =(0.5%2+0.1+0.05%2)+(0.15%2-+0.1%2+0.05%2+0.05%2) = 1.9
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7 4 =(0.5%3+0.1%2+0.05)+(0.15%3+0.1%3+0.05%2+0.05) = 2.65
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0.05
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0.1 0.05

7 7 =(0.5+0.1%3+0.05%2)+(0.15+0.1*3+0.05*3+0.05*2) = 1.6
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Q(3)
0.05
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0.1
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794 =(0.5%2+0.1%3+0.05)+(0.15*2+0.1*3+0.05*3+0.05) = 2.15

=~ F(n)=F(n-1)+2F(n-2)-F(n-3), n3, F(0)=0, F(1)=1, FQ)=2 « 3 * C 3 #JAVE#F 7 > 8- 2
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Public void Func (int n) {
int[] F =new int[n];

for(inti=3;1<n; it++)
F [i] = F [i-1] + 2F [i-2] - F [i-3] ;

for(inti=0; i <n; i++)
System.out.println(“F[“ + 1+ “] ="+ F[i] );
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F [0] = 0;
F[1]=1;
F[2]=2;
F [3] = F[2]+2F[1]-F[0] = 2+2*1-0 = 4;
F [4] = F[3]+2F[2]-F[1] = 4+2%2-1 =7

F[12] =441 +2%244 - 136 =793
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CREATE OR REPLACE TRIGGER table 1
BEFORE INSERT OR UPDATE OR DELETE ON table 2
BEGIN
IF (TO_CHAR(sysdate, 'DY”’) IN ("SAT’, ’SUN”))
OR (TO_NUMBER(Sysdate, 'HH24’) NOT BETWEEN 8 AND 17)
THEN RAISE _APPLICATION_ERROR (-20506, )
ENDIF;
END;
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I ~41* T 5|Bookstores ~ Books% Order ¥ 7 % » 54 W B &1 1% B % ;¢ * fic (Relational algebra )
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Bookstores Books Order

no name rank | city id | bookname | author publisher no | id [ quantity
1| 522 | 20 |32 1| ZRFx | By + @ dRAL 1 1 20
2| 2422 Ak 10 [£¥ 2 ks X ARE RE U 1 2 30
3] k¥ A 20 X 3 S ¥ i R ¢ AL 1 4 30
4l Ertn [ 30 [42] [4] 448 RAf ERE N s 1]5 20
5| 3 n 50 |27+ 50 =y L2 | HFACRAR 2 |2 15
6 | FRE * 3 < B AUEAE 2 3 65
2 | 6 50
3 1 40
315 25
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Range of B is Bookstores
Range of B is Books;
Range of O is Order;
name, city where BS.no=0.no and B.id=0.id and B.bookname="5"#51%";
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